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ol &)U FES
January 1994 Python 1.0
April 10, 1995 Python 1.2
October 12, 1995 Python 1.3
October 25, 1996 Python 1.4
December 31, 1997 Python 1.5
September 5, 2000 Python 1.6
October 16, 2000 Python 2.0
April 17, 2001 Python 2.1
December 21, 2001 Python 2.2
July 29, 2003 Python 2.3

November 30, 2004 Python 2.4
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September 19, 2006 Python 2.5

October 1, 2008 Python 2.6
July 3, 2010 Python 2.7
December 3, 2008 Python 3.0
June 27, 2009 Python 3.1
February 20, 2011 Python 3.2
September 29, 2012 Python 3.3
March 16, 2014 Python 3.4
September 13, 2015 Python 3.5
December 23, 2016 Python 3.6
October 20, 2018 Python 3.7
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About

Download the latest version for Windows ﬂ\\

1

Downloads Documentation Community Success Stories News Events

¥4) Download Python 3.7.1

Looking for Python with a different 0S? Python for Windows,
Linux/UNIX, Mac OS X, Other

Want to help test development versions of Python? Pre-releases

Looking for Python 2.7? See below for specific releases
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$ 3.5 SIS Customize installiation ainiS (goy ;0 Guaw g 63j |y b5 350 S5 g

7

% Python 3.7.1 (32-bit) Setup n|sis)

python

for

windows

Install Python 3.7.1 (32-bit)

Select Install Now to install Python with default settings, or choose
Customize to enable or disable features.

e = Install Now

C:\Users\YounesCsharp\AppData\Local\Programs\Python\Python37-32

Includes IDLE, pip and documentation
Creates shortcuts and file associations

< Customize installation
Choose location and features

[¥] Install launcher for all users (recommended)

olZI Add Python 3.7 to PATH

130 S Next 4aSy (59 p dsxivo (] 5 3940 8313 inlad 1) g0 4y (glamiuo jgSie 4injS (59) ) SulS ;I a
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% Python 3.6.4 (32-bit) Setup L= lo e

Optional Features

Documentation

Installs the Python documentation file.

pip
Installs pip, which can download and install other Python packages.
tcl/tk and IDLE

Installs tkinter and the IDLE development environment.

Python test suite

Installs the standard library test suite.

py launcher for all users (requires elevation)

Installs the global 'py' launcher to make it easier to start Python.

pgthfon

windows Back | Next || cancel |

1394 Luad 4ol U ailey ke g 63,5 S Install daSy (59) p A=y daxbuo )
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% Python 3.64 (32-bit) Setup oo et

Advanced Options

[[] Install for all users

Associate files with Python (requires the py launcher)
Create shortcuts for installed applications

Add Python to environment variables

[T Precompile standard library

[l Download debugging symbols
[l Download debug binaries (requires VS 2015 or later)

Customize install location

C\Users\YounesCsharp\AppData\Local\Programs\Python\Py Browse

plﬁhOﬂ You will require write permissions for the selected location.
for
windows Back | Instal || cancel |
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Setup was successful

Special thanks to Mark Hammond, without whose years of
freely shared Windows expertise, Python for Windows would
still be Python for DOS.

New to Python? Start with the online tutorial and
documentation.

See what's new in this release.

python
for
windows
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Programs (1)
| @ IDLE (Python 3.7 32-bit) e

S See more results

[ 1DLE n x| | shutdown | » |
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& Python 3.7.1 Shell [ESRIEN 5
File Edit Shell Debug Options Window Help
Python 3.7.1 (v3.7.1:260ec2c36a, Oct 20 2018, 14:05:16) [MS *
C v.1915 32 bit (Intel)] on win32
Type "help", "copyright", "credits" or "license()" for more
information.
>>> |

Ln:3 Col: 4

13 SIS New File dijS G g File (ggie (59) 33 ) <3)gi0 @) 0040 jb dduo )

hon 3.7.1 Shell EM
ile

Edit Shell Debug Options Window Help

New File Ctrl+N c2c36a, Oct 20 2018, 14:05:16) [MS *
Open... Ctrl+0 on vin32

Open Module... Alt+M "credits" or "license()" for more
Recent Files »

Module Browser Alt+C |
| Path Browser

Save Ctrl+S
Save As... Ctrl+Shift+S
Save Copy As...  Alt+Shift+S

Print Window Ctrl+P

Close Alt+F4
Exit Ctrl+Q

1

Ln:3 Col: 4
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Taugh o J513 53 1) 395 (5loaS algi e Las 45 940 6313 (iulad 1) &)g0 4 (glasiuo New File aipjS gy p SulS b

r{_a, Untitled

=

File Edit Format Run Options Window Help

-

Ln:1 Col:0

print("Welcome to Python Tutorials!")

Taaungi ) ) a5 Vb oy )

V{_a, *Untitled*

P )

File Edit Format Run Options Window | Help |

print ("Welcome to Python tutorials!"):

1

Ln:1 Col: 38




1305 |y Save aiyjS File (ggio jl j JSib siile

{ @ *Untitled*
@ Edit Format Run Options Window Help
New File Ctrl+N futorials!"); E=
Open... Ctrl+0
Open Module... Alt+M
Recent Files 4

Module Browser Alt+C
Path Browser

Save e Ctrl+S

Save As... Ctrl+Shift+S
Save Copy As...  Alt+Shift+S

Print Window Ctrl+P

Close Alt+F4
Exit Ctrl+Q

-

Ln:1 Col: 38

12103)5 0,053 C alyd j0 ) Jald poj JSi )3 Lo .2 il Jald 0,053 (glp yuune SO Gugw

{ & Save As u

@u'lﬁ » Computer » Local Disk (C:) » v l‘,” Search Local Disk (C:) ,Ol
Organize ¥ New folder = @
[/ Pictures #  Name : Date modified Type
B Videos ’
. PerflLogs 7/14/2009 7:50 AM  File folder
.. Program Files 2/22/2018 9:24 AM  File folder

1% Computer

- . Program Files (x86) 2/24/2018 6:10 AM  File folder
0& Local Disk (C:) _
ko 1. SymCache 47772017 8:57 AM File folder
ca Local Disk (D:) )
: 1. Users 4/6/2017 6:13 PM File folder
. Local Disk (E:) 2
X L. wamp 2/17/2018 7:48 AM File folder
cw Local Disk (F) |- ) )
: 3 1 Windows 2/24/2018 10:09 AM  File folder
—w Local Disk (G:)
a Local Disk (H:)
€% DVD RW Drive ()
o ) v 4 1 »
File name: MyFirstProgram 9 v
Save as type: [Python files (*.py:*.pyw) v]

# Hide Folders e Save J [ Cancel ]
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1365 |y F5 4aS3 L g Run Module 4ipj3 Run (ggio jl 9 dishS 0 (ow93aS Joumo &0 Juld 0,053 5l asy

r S

[_& MyfFirstProgram.p; sers/YounesCsharp/AppData/Local/Programs/P... @m
File Edit Format | Run| Options Window Help

print("Felcoms  Python Shell g, =
Check Module Alt+X
Run Module  F5

-

Ln:2 Col:0

13950 Wl Welcome to Python tutorials! pley gesdis ol doliyy a5 3uiS(50 630 Wi

| & Python 3.7.1 Shell = B

File Edit Shell Debug Options Window Help

Python 3.7.1 (v3.7.1:260ec2c36a, Oct 20 2018, 14:05:16) [MS *
C v.1915 32 bit (Intel)] on win32

Type "help", "copyright", "credits" or "license()" for more
| information.

>>>

RESTART: C:/Users/YounesCsharp/AppData/Local/Programs/Pyth
on/Python37-32/MyFirstProgram.py

Welcome to Python Tutorials!

>>>

1

Ln:6 Col: 4
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&9 &S @S0 o QU Zadgl @ 3> el )3 (g B0 FRY Y &IPS 390 43 03T )d &S Kz 0 3ig)0 ) @
1.l print() @b @lgs ol 51 S 35550 518 () odle LT U (gol= 53 g 8393 EL Sy (gh)ls 45 Aimd @3S I (glacgamo
oib ypammo () aidgS RIS dlawg @ o sl Lo SIS I 9)S atid) S 3gidp0 o3liitul atib) Sy ol glp print() @U
0925 YL JUio JS )3 .aibb ... b odle wac wdy> ) dilgie yiShIS K “Welcome to Python Tutorials!™ :aile .l
22 35 51 93,550 63050 Iy YU (IS (glad (gl .l 30T 03T (glow)d )3 yidw Olxwsdgs .l print () b jl eslitwl

13,5500 JUusl

print(
"Welcome to Python Tutorials!™)

&y a2 L Python ;s man g MAN JUio jgb 4 iz .cuwl (wlns Bgy> (,S295 9 (.53 @ Python a5 il aibls sb @ dives

Print("Welcome to Python Tutorials!"™)
PRINT("Welcome to Python Tutorials!")
Print("Welcome to Python Tutorials!")

fanl Lo (933 WalS o a5 Lol L35S (50 (5359l W3S (shal jl By (X295 9 (S)j2 )3 yus
print("Welcome to Python tutorials!")
090 O ugiss 390 53 (SIS

35 W 2 3lwl (sl () V55T eaotle 31 i)lis o 9 Igl Jio (B L; >

Block
{
statement
¥
139450 03l )il (slp 53) 95 9 (2) akis 95 cuole S5 jl el L) )d B9
Block:
statement

iS50 L2 |) Sl o ©hgiws boh (gl (X8 55 b 9 S ST ) 35 Soby o @yls 1@ oS @ngSise peil @ ahigs b Lo
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1 Blockil:

2 statement

3 statement

4 Block2:

5 statement

6 Block3:

7 statement
8 statement
9 Block4:
10 statement
11 statement

12 statement
538y 93 (sh1s WL s 1o le j| a2y bohas 45 3uiS dogl aiSs (ol 4 .39 0 Jolis ) ¥ 51 ka1 (Blockl) Jgl S WL 5 )5
&S Cunl ol @uS o)Ll T 4 6)bgs lxisl )d 1L a5 (GlaiSs g0 @i> ) b 4y g Egpid F b5 I (Block2) pgs SV .3l
Blockl j= ¥ g ¥ bghs YU a5 55 Wie .2iibbse SW O 952 Cund iz Cuaw jl plp slodbold hls a5 (S b Hgiwd
G Pgme SW 2 S0 paiS Bis | ap haw jI P S goaliols Wie )51 g Cusl plp iz oo 1 5T (S8 95 92 Mo
dcgazo pj |y Block4 A ki > g Block2 degase pj |y Block3 (f s 55 Wis 3,5 )55 SW dcgame ) ¢ylgise ) SW O .94
a5 Gl Y (oungidS P g BlBgl BB .3gd(50 Iyl Jiimes § Cuns Lo SW | plaSoud 3= ¥ bs coles )3 .ales,S Block3

128 oslaiul 5 g0 4\ Cole I glgise el ;3 Bl gl Lamngh kS Jiz ) ) SiVgb glodid,

print("Welcome \
to \

Python \
Tutorials!™)

oy
W) Y 9) Python )3 .S adlal () @ 35 o dauby (5)913h 2 Gie 45 wolgzn 2l 2iSe Gl (635 &5 By
@ g Vg5 4i8)S 63350 jmie bwgi 45 Alumd (Sigie Wloubg 315 plsdl Glowsdgs jleslasiwl b 1) 15 ¢l ¢lgiise (mgidely

igdbipaS gmena 35 51 (kg lic
45 23S o8 .l (K30 (Gl clads bawgs 0ak Ay (Sl AS LIRES Gausuil g (Ll (53 YU Wilowd gl lsyl I Lhol Was
G Aituno (g Sl gy o )US b 35 (YL )3 |y ©lowdgi 353lgize ud) gudes (ol> 35 S0 3)90 53 3uolsS(50

Tl 004 031> (Wi Wlsuogd add ) 4ol )3 L3950 o3laliwl po 4oliy

#This line will print the message hello world
print("Hello World!")

bidd YU 1S ghyol b Sz pgd i aabg a5 M50 Pl )5 @ a5 Cwl pgd b3 0)b)d FuSeT Sy Vb AT Jgl k5> VL A >

03oline 45 jghilad .3).5(50 63030 |y Wiloud gl jumio (192 394505 6313 Linlad 529y 53 Jgl b3 g 63 lz Hello World ales
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139 23 Ceole

#This line will print
#the message hello world
print("Hello World!")

S SyiSLS
S g e 33 b By S T Y @) 9 Bgdise Egpd (\) pirknl SO SO b o5 Sitiand (1155 LIS hS (S (Gl yishlS
odlasiwl \Nn (JyiS SIS 51 oleiise oo )3 didsy (5315 )8 9 3z b G sloul (gl JUie (slp 330 Ginlad pols Cuyd b |y aidy

13,5
print("Hello\nWorld!")

Hello
World

A0 Giulad A2y ki 3 |y didy 4y g 63y 3 b @ |y (wgle ;5L \N (S 5SS U dgzlge jl dmy junde 45 333,5 63 lie

P30 oW |y ST 355 9 (S (sl hS ) 5 Jos2

S s A PSS A
\’ OaS9S ol \f Form Feed
\” oaieS B ol \n L3> bo
\\ oilwl SO ol \r 08y yhaw yuw
\o G gldd plz \t Gl )90 4 Sy
\a e e \v (§d3ac ©)90 4 CS)>
\b Cadic 4 CS)> \u 3Sbgr ySHE ol

SO ole (gl W30 odid) 4 (pols (sliss \ aSuledT 1. auiS 50 edlaiw! (\) Gkl SO 1 (yiiS (slooyiS TS 51 eslatiunl (slp Lo

: oS oslasol (\\) 1 b (\) (il

print("We can print a \\ by using the \\\\ escape sequence.")
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We can a \ by using the \\ escape sequence.

tewl joding 53 Jald SO o (51> i A\l eslaiwl 3)lge 51 (S0

print("C:\\Program Files\\Some Directory\\SomeFile.txt")

C:\Program Files\Some Directory\SomeFile.txt

TS50 03wl \” 51 (T Gl (gl EaiSoe edlatiwl odiny ¢l L gl () uinaieS Jols 5l aSuleT i

print("I said, \"Motivate yourself!\".")
I said, "Motivate yourself!".

tEaiS 50 odlaiwl \7 ) () (O39S Wl gy prizeo
print("The programmer\'s heaven.")

The programmer's heaven.

1394 (50 03wl \t jl wlalS b By (pn dold sl (gl

print("Left\tRight")

Left Right
Hh8 \U Code 1 ay s |y S HIS 17 (glino 5 jlade U jl edlasiwl (gl 23,5 adlasiwl \Uu I ¢)lgise 3559 (sloyiSHS le glp

135k a3 H1y8 1) BBAI jlaie \U Cuole 5l 3y 1L S Ol 1) (0) culy (S Crolle @udlgsy ST JUio (5l 350

print("\ueeAs")

‘

Tanlad deslie 15 S 4 AS6g) Loy (gl 17 (Gline yolde Cuwd sadlive (gl

http://www.ascii.cl/htmlcodes.htm
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False def if raise
None del import return
True elif in try
and else is while
as except lambda with
assert finally nonlocal yield
break for not

class from or

continue global pass
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variableName = Value

tCawl 034 031> Ginled o pusio (03,1380 g Layyel 8950 5 JUie )

1 intVar = 10

2 floatvar = 12.5

3  boolvar =

4 StringVar = "Hello World!"

5 1listvar = [1,5,8]

6 tuplevar = ("Python","Programming","begginer")
7 dictionaryvar = {'Name': 'jack', 'family': 'Scalia‘', 'Age': 7}
8

9 print("intVar = {0}".format(intVvar))

10 print("floatvar = {0}".format(floatVar))

11 print("boolvar = {0}".format(boolVar))

12 print("Stringvar = {0}".format(StringVar))

13 print("listvar = {0}".format(listVar))

14 print("tupleVvar = {0}".format(tuplevar))

15 print("dictionaryVvar = {0}".format(dictionaryVar))

intVar 10
floatVar 12.5
boolvar = True

StringVar Hello World!

listvar [1, 5, 8]

tuplevar = ('Python', 'Programming', 'begginer')
dictionaryVar = {'Name': 'jack', 'family': 'Scalia‘', ‘'Age': 7}
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listvar = [1, 5, 8]
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dictionaryVar = {Keyl:Valuel, Key2:Value2, Key3:Value3}
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identifierl = identifier2 = ... indentifierN = Value

1S 429l pj Jlie

numl = num2 = num3 = num4 = num5 = 10
messagel = message2 = message3 = "Hello World!"

print(numl)
print(num4d)
print(messagel)
print(message3)

10
10

Hello World!
Hello World!

9 03b 6yu5>d abidl> 5 o Hlabo (imy g0 0313 Howasi dbils Gl SO YU Gl jd 004 Lyl (Gl juie (gl 45 JuS b
Gl 9 3,5 Layyeli | jusio Mz ()lgise (puized L AUS (50 o)Ll dbidls jl LS (T 4 nUMS g NnuM4 g num3 g nUM2 g numl glo yusio
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identifierl, identifier2, ... indentifierN = Valuel, Value2, ... ValueN

1S 426l pj Jlie

numl, num2, messagel = 10, 12.5, "Hello World!"
print(numl)

print(num2)

print(messagel)

10

12.5
Hello World!
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message = "Hello World!"
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message = "Hello World! "
print(message[6])

‘

listvar = [1, 5, 8]
tuplevar ("Python", "Programming", "begginer")

print(listvar[2])
print(tuplevar[1])

Programming

139 6315 Ginlad Ladb (glp ¢ Hlaie B duwogi ) 3ulS 0U 0L Lasd «5)iisnd 3590 53 Lel g
dictionaryVar = {'Name': 'jack', 'Family': 'Scalia', 'Age': 7}
print(dictionaryVar[ 'Family'])

Scalia

Gl (60 lad 9 3bb (,egi yo 1 ABlgT e (5punSyd ) o)lase/sulS a5 Cuwl ¢l @uiS o)ldl T @ lxises )3 Cunl yigy o5 (glaiss
P35 4295 yj JUo . dangily G485 1) 35 b b 35 S0 ) bgype jlaie
dictionaryvar = {1:'Jack', '2':'Scalia‘', 3:7}
print(dictionaryVar['2'])

Scalia
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294
dictionaryVar = {1:'Jack', '2':'Scalia', 3:7}
print(dictionaryVvar[2])

Traceback (most recent call last):
File "C:/MyFirstProgram.py", line 3, in

print(dictionaryvar[2])
KeyError: 2
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print("The values are {0}, {1}, {2}, and {3}.".format(valuel, value2, value3, value4))

- .

.".format (valuel, value2, valuel3, value4)):
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var3 g var2 ge=> Jol> b cuwl plp Varl

var3 g var2 @)as Juol> b cwl plyp Varl

var3 s var2 opalol> b cwl ply Varl

var3 yvar2 puwds Jol> b cwl plp Varl

var3 g var2 auw’s s lessb b el ply Varl

var3 glgs 4y var2 jlade b cwl plyp Varl

Pusuo g 4 deuid) varl p eawds var2 b cwl plp Varl

(3gib50 031> inles

varl = var2 + var3 +

varl = var2 - var3 -

varl = var2 * var3 *
varl = var2 / var3 /
varl = var2 % var3 %
varl = var2 ** var3 ek
varl = var2 // var3 //

&y + Slac 51,51 .5)15 (SIglitie asuis (glaisy E¢5 (5 0Ly o Slac jl o3liiuw] Lol sl 604 63kl (g3ae Eg jI 5 YL Jlio
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#Assign test values
numl = 5
num2 = 3

#Demonstrate use of mathematical operators
print("The sum of {@} and {1} is {2}."
print("The difference of {0} and {1} is {2}."
print("The product of {0} and {1} is {2}."

oONOUVThWNR

P 3L b gsialy o

.format(numl, num2, (numl + num2)))
.format(numl, num2, (numl - num2)))
.format(numl, num2, (numl * num2)))
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print("The quotient of {0} and {1} is {2:.2f}." .format(numl, num2, (numl / num2)))
print("The remainder of {0} divided by {1} is {2}." .format(numl, num2, (numl % num2)))
print("The result of {@} power {1} is {2}." .format(numl, num2, (numl ** num2)))
print("The quotient of {0} and {1} is {2}." .format(numl, num2, (numl // num2)))

#Demonstrate concatenation on strings using the + operator
msgl = "Hello "

msg2 = "World!"

print(msgl + msg2)

The sum of 5 and 3 is 8.

The difference of 5 and 3 is 2.
The product of 5 and 3 is 15.
The quotient of 5 and 3 is 1.67.

The remainder of 5 divided by 3 is 2.
The result of 5 power 3 is 125.

The quotient of 5 and 3 is 1.

Hello World!
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var2 g varl §)s5 Juols> b cuwl ply varl jlado varl -= var2 -=
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var2 y varl guumds 6358l b cuwl plyp varl jlado varl %= var2 %=

o=

var2 glgi a4y varl b cwl ply varl )lase varl **= var2 ko

var2 yvarl auwds Jol> b cwl plp varl jlase varl //= var2 //=

Wis .l 35 )d gl Ao Egi Sy g8lg ) o)Slac Eg ¢l jl skl .3)S 63wl ¢lgis0 jub diddy 93 Juail (gly += )Slac jI
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1 print("Assigning 10 to number...")

2 number = 10

3 print("Number = {0}" .format(number))
4

5 print("Adding 10 to number...")

6 number += 10

7  print("Number = {@}" .format(number))
8

9 print("Subtracting 10 from number...")
16 number -= 10

11 print("Number = {0}" .format(number))

Assigning 10 to number...
Number = 10
Adding 10 to number...

Number = 20
Subtracting 10 from number...
Number = 10
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varl = var2 == var3 ==
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varl = var2 != var3 I=

.l False wygaisl uc
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varl = var2 <> var3 <>

.l False wygail jue

AL Hlase var3 jl )5 S=>gS var2 Hjlade a5 cawl True (590 )5 varl
varl = var2 < var3 <

.Cwl False wygail juc >

5 3L var3 )jladejl 35,5 var2 jlade a5 cusl True (5)go j> varl
varl = var2 > var3 >

.l False wygail e

var3 lago (goluwe b, S>gS var2 jlasoe a5 cuwl True 390 jd varl
varl = var2 <= var3 <=
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varl = var2 >= var3 >=

.l False wjgail jué )> 3oL

1050 ol |y L(b)ilm: o2l 3)Slac 6920 55 dolip

numl = 10

num2 = 5

print("{0} == {1} : {2}" .format(numl, num2, numl == num2))
print("{e} != {1} : {2}" .format(numl, num2, numl != num2))
print("{0} <> {1} : {2}" .format(numl, num2, numl != num2))
print("{0} < {1} : {2}" .format(numl, num2, numl num2))

<
print("{e} > {1} : {2}" .format(numl, num2, numl > num2))
print("{0} <= {1} : {2}" .format(numl, num2, numl <= num2))

print("{e} >= {1} : {2}" .format(numl, num2, numl >= num2))
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varl = var2 and var3 and
varl = var2 or var3 or
varl = not (varl) not
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result = (age > 18) (salary < 1000)
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X Y X oryY
True True True
True False True

False True True
False False False
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isPassed = (finalGrade >= 75) (finalExam == 100)
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X not X
True False

False True
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isMinor = (age >= 18)
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print(result)

a2l ol e a5 EaiS (50 ) Jlo 39450 10 Azl paiS 5o oslaiwl 1 9 Y) Vb Jbw 31380 93 (5l OR L,.u)).ﬂo.c)l a5 (5189

Tl 8307 Cuwwd 0

7: 00000000000000000000000000000111
9: 0000000000000V VVVV1001

15: 00000000000000000000000000001111

2usuo 10 33 Jaleo (6l W dac 313 Gausis |y JSlac ¢l 1 e3letiwl doui (ylgise OR (i ySlac iy Jgaz jl eslaswl b

. Cawl

XOR(") (iw ySkac

tcunl el 05 53 )hae (ol Giyd Jo3z
X XOR Y Y X
0 1 1



ro 0k Y e Jgl Juad

22 Jbie )3 39450 S aosi O)yguail k)3 o azuiD 3L SO 93 0 b yiuo 93 yo Slac ¢l Byb 93 (b iglec AL 00 )
PS50 030 Liko )18 93 (59 2 ) XOR (i ySlac i3
result =5~ 7
print(result)
<Gl 034D 8315 (L (Y g 0) YU slacl (5l Jsleo 15 5>

5: 00000000000000000000000000000101
7: 00000000000000000000000000000111

2: 000000EAEE000EOARE000EEAPE000010
L39ib(0 P 3as 4 e 45 31agd (lgie KOR i )Slac (i) Joaz 4 93)S o5 b
NOT (~) (i yXlas

tcunl 00l Sloc (pl (iwyd Jgdz 15 3 .31 5L Miglac O @ kidd g Cunl (S Slac S Slac ¢l

NOT X X
0 1
1 (4]

! 630 Slac ¢l jl esleiwl 3652 1) )3 35S 50 (weSme |y lgiy p3lie NOT (iw )Slac

result = ~7
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print(5 [3, 8, 5, 19])



print(5 [3, 8, 5, 18])
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numberl = 5

number2 = 6

print(numberl number2)
print(numberl number2)
True

False
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1S d2gl ) dely 4 . LlgS 0 wije |y enter daSy a5 (Sloj U duiS e wall ungidely) kaso )3 Lk 45

name = input("Enter your name: ")
age = input("Enter your age: ")
height = input("Enter your height: ")

#Print a blank line
print()

#Show the details you typed
print("Name is {@}.".format(name))
print("Age is {@0}.".format(age))
print("Height is {@}.".format(height))

Enter your name: John
Enter your age: 18
Enter your height: 160.5

Name is John.
Age is 18.
Height is 160.5.

23 .(1 23) 45 3yl ) 395 b a5 adlg 0 3015 5l deby (W g ¥ g | bghs) @uiS 50 Ly doliy 53 0315 0,453 (gl |y yusio ¥ 1ol

dbwg 4 dols b ) @ £ b > (W bs) AiSe Jlgw |y (e Lo 5l deliy Guaw . 3uiS(0 Hlg 1y 395 @b )5 (lgic @) Lass ¥ o>



¥q 0k Y e Jgl Juad

035 Ylg b g 63,5 ol 1y asly Jlo 394 slowl SSET Cage (Glaold (;29)5 g Lads (s (639)9 (pn U maled)S slwl print () gU

A4S 030 lino |y azyis ()25 3590 jdldo

ﬁ,!,c;a.'i leb)b’.éhu
s )il (gh1S a0l S oS 345 jpal Jl> 330 oylakae bl )3 1) 35 gh2l 6jl2l Led 4 Gungiasly (sleil; dem Ly)ss
Aplgiy L 45 55 008 g Ml uwnlie axio 53 el S Gl (sl S Wl > S L2l | S aam g 15 (65
Slp kit (ol el . Ab 34@ls5 azlge JSuine b By (T 39 Lo pliny Sy Gngew AL ply 38 Sy b ko Sy ke S
1 Lwles Wil ) cdllae b Gido ol )3 20350 &l) OWSie Egi ol 89,

if jgiw> e

if..else )giw> o

U m)ilm b

6By if jguws o

93> 95 if jgiws @
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if )93.4.0.)
if Hgiwd L3S a8lsl 395 dobipy @ @i S 29,0 A5 SO dloul Cueb &5 yols by S g if jgiws jl eslatiwl b lgise
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if (condition):

code to execute

Oylie SO by gm0 Lol A5 Guaw AL Cunyd iy abb HhBy by (ST 09d 0 (o) byd el 1 jgiws gl 51 Jud
0955 4 ;@155 45 L1 ojlal 13, eslaiwl by )39y oLl b Cawyd S (gl (lamnlie (sloSlac jI (lgiso ] (Glawnlio

511, Goodbye World g le jl yiaS number )lade ,S11yHello World plew yj 4oy .ayjlaim dely J515 53 if jgiws jl esliiwl

D350 Uinled Ao jd 3bb 4555 1o 5l number laie

#Declare a variable and set it a value less than 10
number = 5

#If the value of number is less than 10
if (number < 10):
print("Hello World.")
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#Change the value of a number to a value which is greater than 10



S number = 15

10

11 #If the value of number is greater than 10
12 if (number > 10):

13 print("Goodbye World.")

Hello World.

Goodbye World.

4oliy aawys0 ¥ b5 55 if jgiwd algl 4 (Si8g .Cuuwl 624 8315 Holais! T 4 O Hlade g Layyel number ob b jugio SO Y b5 >
Gl Vo 51,5205 B (i) Cawl yiaS Vo 5l nUMber lade a5 3350 HouSis
3950 wlz Hello World plew o (£ k3) 350 hal |y jgiws 1f jgimwd ¢plpls (dbbo Cunyd duwlioe dzui a5 cuwl ikio
aunliso 1o b Iy number jlado doly pawy 0 W b3 )3 if jgiwd (09> 4 (89 .(3 L5) @50 s VO @ |y number )lads Jl>
S 42l 4SS (pal 4 (W o3) AiS,0 wle |y Goodbye World pley doby cusl 4555 1o 5110 (sizy number jlaie o2 g AiS 50
tebg b Sy )3 olgie |y if Hgiws oS

if (number > 10): print("Goodbye World.")
23 P> Az L5 0975 bl 3T (XB) 95 @ liwlgm &S CuwndlS L daungly 1 jgiws YB3 )3 |y jgiws iz wslgiGe Lad
tCwl pj oygo 4 if Ga s

if (condition)

statementl
statement2
statementN
100l JUo SO po (ol
x = 15
if (x > 19):

print("x is greater than 10.")
print("This is still part of the if statement.")

1o 51 X )lade g @uiS Wi 1) 5T s (S8 o3 ¢ Jlin ylgic @ )51 Jlo 3gds0 Glo pléwy 93 il y3S5)5 1o 5l X jlada ,S1YL Jlis 5>
F2) 35 2iile Al 55y
x =5

if (x > 19):
print("x is greater than 10.")
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print("This is not part of the if statement.")

X =5

(x > 10):
print("x is greater than 10.")

print("This is not part of the if statement.")
Cawl YIS 265 1o 51 X Hlaie a5 @laidldS (nl p 1y )68 e (92 a5 Cawlaxip] .Cumsd 1F jgiwd j= Vb JUie j3 5T jgiwd a5 Jiwe
Oloic 4 390 Hatuire (S38) 95 39>g Caradl A )5 .3gd0 lz This is not part of the if statement b
9 Sy il 1 a5 a5 Ggelyd S Slowl (S8 95 S o (sl il 3F W3y 53 g S aiid S (> diad 30y
1 9w 3)30 53 %05 e iS50 G |y o GBL 9 0b Ua> (gl 3929 @) eacly X8,

firstNumber = input("Enter a number: ")
secondNumber = input("Enter another number: ")

(firstNumber == secondNumber):
print("{0} == {1}".format(firstNumber, secondNumber))

(firstNumber != secondNumber):
print("{0} !'= {1}".format(firstNumber, secondNumber))

(firstNumber < secondNumber):
print("{0} < {1}".format(firstNumber, secondNumber))

(firstNumber > secondNumber):
print("{e} > {1}".format(firstNumber, secondNumber))

(firstNumber <= secondNumber):
print("{0} <= {1}".format(firstNumber, secondNumber))

(firstNumber >= secondNumber):
print("{e} >= {1}".format(firstNumber, secondNumber))

Enter a number: 2

Enter another number: 5
2 !1=5

2<5

PARE I

Enter a number: 10
Enter another number: 3
10 1= 3

10 > 3

10 >= 3

Enter a number: 5

Enter another number: 5
<

>

5
5
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Jlio lgbydd oS 30l dissly azgl iS5 ol @ 39850l 5ol d9) Cuyd byl ST g Vg dumnlie po Ly dlacl S50
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if..else )90

STawlgi lad oS loj Lol .3gib plaasl (o> )5 391 )18y Gil= )51 iz 3950 )5 @ o> > S 2l (gl bidd if jgiws
if else jgiwd jlisbo .auS osliiwl if else jgiwd jl b 39 Ll 505 Hguwd 395 )18 ST g Hgiwd SO Ab )18 ols by

Tl 8301 j 53

(condition):
code to execute if condition is true

code to execute if condition is false
9 if 53 515 )3 (hol 35 S hid )51 .39 63,5 & if b b Lz aSb 3)S sslatiwl (i 4 ¢lgie else gl aals ;I
Caw)d0 1F jgiwd J515 by a5 dgis0 ol (5)g0 jd bid else Sgly 515 a5 .l (gLl 3YgST 5l eslasiwl 31> else diay

Cawl 020l if..else jgiwd jl aslisiwl 6go0 5 5> .3l

1 number =5

2

3 #Test the condition

4 if (number < 10):

5 print("The number is less than 10.")

6 else:

7 print("The number is either greater than or equal to 10.")
8

9 #Modify value of number

16  number = 15

11

12 #Repeat the test to yield a different result

13 if (number < 10):

14 print("The number is less than 10.")

15 else:

16 print("The number is either greater than or equal to 10.")

number is less than 10.

number is either greater than or equal to 1.
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if..elif..else ygiwd
@ |y 1f Ohginwd ¢l a5 cunl yig 9 S dlaiwl 1f jgiwd 3z jl 3lgise T3S e Iz 3 (uyp | by 3z Lwlgsy )31
Pughy ) ©)g0

(condition):
code to execute

(condition):
code to execute

(condition):
code to execute

code to execute
23S 505w Iy YL 35 algi o0 . dumgis else Soly J515 55 (K38, o5 &g @ |y Olygiwd Cuwl yigr .Cunl Cdun YU AF ¢ 1lgs

(condition):
code to execute
(condition):
code to execute
(condition):
code to execute

code to execute
elif jgiwd .l dimvly 1f Hgiwd @ ju5 elif else aile a5 35l 1L 28,5 sb |y if else )giwd jl slainwl 6gs0 a5 Jl>
390 bl 56 T )51 9 3950 ol (g3 e1if jgiws 3l sluol elif S1 Jl> 2l oliissl 1F jgiwd (gl a5 dgiss0 ol (38

1A (50 i |y eLif jguiwd jl edlatiwl 6920 5 deliy 2950 ol else jgiws cales )

1 print("What's your favorite color?")

2 print("[1] Black")

3 print("[2] White")

4  print("[3] Blue")

5 print("[4] Red")

6 print("[5] Yellown")

7

8 choice = int(input("Enter your choice: "))

9

10 if (choice == 1):

11 print("You might like my black t-shirt.")

12 elif (choice == 2):

13 print("You might be a clean and tidy person.")
14 elif (choice == 3):

15 print("You might be sad today.")

16 elif (choice == 4):

17 print("You might be inlove right now.")

18 elif (choice == 5):

19 print("Lemon might be your favorite fruit.")
20 else:

21 print("Sorry, your favorite color is not in the choices above.")



What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 1

You might like my black t-shirt.
What's your favorite color?

[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 999
Sorry, your favorite color is not in the choices above.
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(condition):
code to execute
(condition):
code to execute
(condition):
(condition):
code to execute

(condition):
code to execute

1o o |y g5 )5 o5 if )giwd jl eslatiwl 6gos a5 Juoy 8l

age = int(input("Enter your age: "))
gender = input("Enter your gender (male/female): ")

(age > 12):
(age < 20):
(gender == "male"):
print("You are a teenage boy.")
print("You are a teenage girl.")
print("You are already an adult.")

print("You are still too young.")

Enter your age: 18

Enter your gender: male
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You are a teenage boy.
Enter your age: 12

Enter your gender: female
You are still too young.
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OUbylaioe )Slac Byb 93 by 93 0 45 cunl True (3)go )3 Z lade
False z,lade b False by jl (5o lade bid )51 .abL True z = (x >2) and (y < 10) and

A Aplgs>

Nlac Gyb 9> by 93 I o a5 cwl True oo )3 Z Hlabe
Z jlaEo 3L False ylislado byis 93 0 )51 .35 True ;li,lade z = (x>2)or (y < 10) or
A Jwlg> False
590 5> 9 3L False by jlade a5 cuwl True ()90 )> Z )lado
z = not(x > 2) not
AL True by Hlade oS cuwl False
PS5 X )l3ie a5 cusl True plp z )l3de (3)g0 53" 13wlgdn Wygo plwlyz = (x > 2) and (y < 18) daz Jlo yleic @
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if ((x ==1) and ( (y »3) or z < 10) ) ):
#do something here

(y > 3) or (z < 18) wylic lawl lxil )> . @uiS(se o3ldiml lgb i (630 69,5 )5 () jl (92 Cuwl pgo 51y jl e3laiuwl lxiyl 5>
by Jlo 3950 duwglie (X == 1) asuid b and JSlae dbuwgy ¢ dsuid Gmaw (Lo, Slac pads cde 0) 3,550 51,8 () 350

1 age = int(input("Enter your age: "))

2 gender = input("Enter your gender (male/female): ")
3

4 if (age > 12 and age < 20):

5 if (gender == "male"):

6 print("You are a teenage boy.")

7 else:

8 print("You are a teenage girl.")

9 else:

10 print("You are not a teenager.")

Enter your age: 18
Enter your gender (male/female): female
You are a teenage girl.

Enter you age: 10
Enter your gender (male/female): male
You are not a teenager.
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if (x == 2 and y == 3):
#Some code here

if (x == 2 or y == 3)
#Some code here
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1S 423 1) Jlie @ S50 siie b s 1) Oylie SO dsub 4 cuwl not Slec sikio

if (not(x == 2))
print("x is not equal to 2.")

. 3iS50 True |y (T not Slac 3L False plp x == 2 O)le asyis )51
| o.).nT)i.lAc o2l jl eslatsl 6920 35 5> L AiS (50 Jac if.else by jgiwd sl (hoibly )d (b )i.ln.c
condition_is_true if condition else condition_is_false

Giloj jlaie Sy g by Al Cwyd by a5 (iloj jlade G 3yl Wglac duw 4y LS &S Cunl (gl (U dw Slac i (b )Slac

a3 )18 w3590 dolip S35 53 1) Klac (ol esliiwl 6920 45 3uo 2 6jl] 3L Cawwydb byis a5

1 petl = "puppy”

2 pet2 = "kitten"

3

4 typel = "dog" if (petl == "puppy" ) else "cat"
5 type2 = "cat" if (pet2 == "kitten") else "dog"
6

7 print(typel)

8 print(type2)

dog

cat

L8 typel yusio ;3 1) dog ylaie 45 3gdss0 dazyi Wygo ol 4 F s am3e Lo 1y by Slac ¢l jl esliiwl 69 YU doliy
3o a5 390 dazyi Wygo ¢l W O k> 63,8 typel |y cat jlabe ygo (l jue )3 393 puppy b plp petllads )51 eay

1f o jl eslatiwl b |y YU doliy Jlo .dog jlade <ygo ¢l e 5 3oy kitten byl pet2 )labos )56 )1)8 type2 )5 1) cat

tpaungi o0 else
if (petl == "puppy"”):
typel = "dog"
else:
typel = "cat"
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1) JUe 3o

print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")
print("Hello World!")

e yig2 ol) 39150 0RL 1) GuuPAS CadsS S )3 ) ol Iy Jamngiy Col) 1) 35 slaed pl 453)S (25 L 3lgie Lads aidl

5 A5 le ool > bails cul odils jl o3lisiwl YU (GlosS yide

while o
for e
While adl>

GBS 2L 5h8 ) by aSoloj U g 32350 518 (u0)p 3590 |) byid S lai] .l While ddls> ginly )d LSS )Lidko (ga)ialanl
tCwl oy g0 @ While déls jlisle . gi 0 hal Sl (yg)d
while(condition):
code to loop
aoui )51 pawgise Cunl (o slade SO T dsui a5 1) by <O 1ol sl 65l jluws if jlisbe Jisle While jlisle 45 suiw ;e
While dil> &) doliy a5 (589 ab false b kle byi )51 . 356k 50 Lol While Soly J513 loaS (o 35b true b cusys

- Ngd 2ol While dils Jo1s yslie b dils ad Wgio (gl .3 hal |y b3S jl elaSous suy

o30l While ddls jl aslésiwl 69 35 4ol )3 .@ad Ginlidl b GholS b 43 J515 )5 1) 0x5)lad ¢l .l diusly T 4 ;e
LCwl
counter =1

while (counter <= 10):
print("Hello World!")
counter = counter + 1
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World!
World!
World!
World!
World!

World!
World!
World!
World!
World!

S Lol 1y s Yo plad 03393 joumo @13, (55 e3laiwl YU Jlis y> dil> 1,51 . 35550 wlz |y Hello World! plés ;b lo YU deliy
] 024 63wl diils> 635)lads lgic 0 o 51 9 wiyyed usie SO ) o 5 1l Laujlain G99 doliy (sloaS & (o5 a5 L) o)l
2 T L b el yiaS o I LT a5 3gd50 dmlio Vo b 635)lasd adgl jlade labl while dil> ;5 . @uiS 50 3lg |y while dil> V¥ b3 5>
Ao duwnlio )b o jl A2 3550 63D Lie &S johilad .l pley ol g While ddl> 453 4 dg)9 dwnlio )b o douD . Cwl

AL yiaS Yo jl 645lasd Hlaioe a5 g0 LS (Sloj U dils> (0 b3) g4 50 adlo] 3oy S 035 Lo
G5 ol .07 (50 3929 4 Coleiw dils SO g0 False 5y by jlade b g e s Ginlidl |y ¢ 9 Blay S 635)ladd Hlaio )51
092 M0 ST 5L A Lo 35 @3,S (50 o3l < Cuode I ST . Cawl s3id s3litiwl <= jI < Cuole (gle & YU by )d a5 IS azgs
45 3uS sloyl el (il S 3udlgB0 K5 . Cunt Yo < o (92 g0 Talse duwyp lo 4y by a5 (Lol5in g Cuwl ) dlgl jlabe

2L (true) cusys o)lgas 45 23S dloul byb SO 1L 94 igie 6Boun

while(True):
#code to loop

295 6301 )3 a5 return g break wlygiws jl eslaiwl L Judlgsy Lab a5 Cuwl (Sloj (T 9 3> (RHB 3)lge (25 5> SLST

- g 2yl ddls sl slgs

for dadl>

1) o @ for dil> jlisle 3230 plosl while dils @ duidb Glac dils ol .cwl for dils )L, go)lisle j1 )50 (SO

Lol

for iterator_var in sequence:
code to repeat

) for dal> ()lgi( 50 . Abbs0 ... g 1ist tuple il (g o o sequence g (gaulS dalS in (;i8go jukio S iterator_var
ol for dils I Jlie o 35,0 .05 LS5 ) baS by boylS M6 (5w 4> 39290 (sloaipl slaes & b (gljl @ 45 ©3)S damys digSiyl

T Cwl



for i in [21, 2, 3, 4, 5, 6, 7, 8, 9, 10]:
print("Number ", i)

Number
Number
Number
Number
Number

Number
Number
Number
Number
Number
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slael 51 gy S 3T 55 9 in (aulS dalS Guaw (1) (SiBge yuoie S 1l .5)lasd 10 For dilsjl oslaswl b 1) lo B slacl YU aoliy
i jusie jo list glopil 5l SO labl g0 ol dils a5 )b o dgdbe [hol A5 auS (50 wayyel bl 1ist SO Ll jd a5
5 tuple jl wilgiie Yo 35 )3 1ist lo 4 Hhee bl @l )3T Ole B, (ol Siie lz 32 b 53 g ad)S )8

1345 odlatiwl po dictionary

for i in (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):

for i in {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}:
(Nested Loops) ¢35 g5 glvadl>
o3 dilo T 43 3,50 18,555 dils J51 ) dils S 5100 eslatiml 63 53 63 Gygo G Wodils jl a5 32350 ojlal Lads 4 (b
sloul 6950 5 53 39450 ol JolS job @ 151 dils ((Hgpw dils ;b SO shal (gl U dodils g5 ¢l 5> 39450 aiaS g5 )5
HOWI PV ENEREN T E

for iterator_var in sequence:
for iterator_var in sequence:
statements(s)
statements(s)

while expression:
while expression:
statement(s)
statement(s)

51 Olgise Wie .3,S ealaiwl 1305 g5 J&15 )3 dils E¢5 SO 51 plgise @S Cuwl (¢l 3515 3929 ¢5 5 g5 (glodils 3y90 5 45 (glaiss
SO AdlgB> (50 45 S 46,9 .l 814D KIS Woddls (ol I edlatiw] 69z y3j JUio 3 3905 edlaiwl while ddl> 515 > for dal>
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i (1, 2, 3, 4):
j (1) 2} 3) 4) 5):
print("*", end=" ")
print()

133 plp 1,lade S8y iz g0 Lol JolS jgb @ (Y1) g for dil> () k) Jgl for dils (ghal ;b o gljl @ Vb a5 >
980 S )3 . 9 39850 L2 )b iy ¥ aodle 0)Lgd oo ¥l 1 (B9 390 2l )L B pgd dll> bwgd * ol i
b5 3¢ ol * Cole )b B jow (0 55 g 39 dloul yhaw F L 39 wlz giw B )3 * e jow F ) S cwl ¢l For ddls g 5l
bghs )5 * glacuolle g dgui 0 Sl LA kS ) Wb ol JolS jgb 4 (51 dils (189 imy .l 13z kS Sl gl po F

g0 olz a2
pass g continuedreak jl sslaiwl b ddl> 5l o 2 >

51 olaiwl b Tauws plsol 1) )5 (ol johs a5 Cunloisl Jlow .39 bgio dil> aulg>(s0 by (1390 Caunyd 3929 b wlégl Lol8
) Ay dlzye 4) 9 3,5 ) 1) ddls 1 i ylgioe continue (gaulS dalS jl eslaiwl b g 63,5 a8gis |y adl> break (gaus aals

1350 o |y pass g break.continue jl eslasiwl 690 5 doby

print("Demonstrating the use of break\n")

X (1, 2, 3, 4, 5,6, 7, 8, 9, 108):
(x == 5):

print("Number ", x)
print("\nDemonstrating the use of continue\n")
X (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):
(x == 5):

print("“Number ", x)
print("\nDemonstrating the use of pass\n")

X (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):
(x == 5):

Demonstrating the use of break

Number
Number
Number
Number




Demonstrating the use of continue

Number
Number
Number
Number
Number
Number
Number
Number
Number
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Demonstrating the use of pass
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def functionname(Parameter List):
code to execute
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def printmessage():
print("Hello World!")

printmessage()

b @U pb .cuwl U wayyei sdiod lid a5 Cunl s30T def (gaulS dalS YU 5 wayy=i )d .@aled)S wayyei i SO - bghs >
23,519 39 (50 Aligs S2gS Wgyo g0 4 @ilgi Eb 315,L8 Gub g (yeily )d 45 S dgi 4SS (ol 4 .l printmessage()
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&U wayyei Jxo 4 doliy printmessage() b ghal gy . Bgd0 hal ¢l da g5 oS U S (93 luo b a0
&b &S (nlo iz ) bs @ F b jl dolp anje 1o F s )3 |y printmessage() gl Lo ;89 Wio .39y 50 printmessage()
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def functionname()



return value
a5 @ SO pj JUio pamgise |y cuwl Hlade o ol douis a5 )le b Hlade SO T 5l a=y g return (gaulS dalS 26 Gay J21s )

def calculatesum():
firstNumber = 10
secondNumber = 5
sum = firstNumber + secondNumber

return sum

result = calculatesum()
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print("Sum is {@}.".format(result))

A4S 493 . 3leadd ;03 )lade g Layyei Hukio 93 W g ¥ bghs )3 @163, wayyel @B Sy 1F bohks )3 (iS50 s3liv a5 kil
22U ) bid g i ouwyiwd JB @lgi plw ) lojusie (pl a5 Cwl Gigo ¢l (2] 9 . 3iuwd oo (g yasie o pueio (pl a5
buwgd sum idSy Hlado £ b )5 3,550 H1)8 sUM ju2io ) ugie 95 ez F s )3 lkue osliiwl (JB Slead wayyei (T )5 a5

<S50 Hle>1ys 1) calculatesum() gU g 63,5 Layyei result pb 4 jusio SO A k3 5> 3gd 50 (5lg>]h8 return jgiws

20 > 6dih 0ya>d Hlade Vo b j> dgdi0 655D result juie JSI5 5> a5 15550 1) 10 Hlade calculatesum() U
oA diddgd Vb & 5> (6L (sl aS aSHd929 b s (gaxd0 g (63)5 &L 3 )S3 JUo ¢l )3 a5 = 3950 il result
J215 )5 @adlgs,0 a5 oK 31> @bl us gl 63T (slgw)d )3 aS 39k a8LSI T 4 (Wil aS Cunl 16T ()90 )d U

1S dzgi 5 Jlis 0 Gdbao (ol yigy Sy (gl L aibl Sy Hlads (ghls S plai b EaS esléiwl i jgiws jl 2B S

def getnumber():
number = int(input("Enter a number greater than 10: "))
if number > 10:
return number
else:
return O

result = getnumber()

uwvwoo~NOOTUVTh~hWNERE

print("Result = {0}.".format(result))

Enter a number greater than 10: 11
Result = 11

Enter a number greater than 10: 9
Result =
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buwgi oaib 3)lg dac )51 . a0lg> 50 |y lo 51 555 dac SO )15 51 45 Cawl o0 Layyel getnumber () pb L U G - bghs >
sh2!l e )5 puS B T 5l ) return jgiws b g if jgiws else Cuawd )51 .2513)5 50 1) yhu0 Hlade QB 1bLS Cawwys p)l5

- 900 42190 L2 pliy b dobp
9 113,5 p 1) yhu0 Hlade U 3950 €1se Cuawd a3 doly (35S 3)lg 1y 1o 1 yiaS (gylade y0)lS) Al Cawnydb if jgiws by )51 (9=
e @ Lo 4oy (92 39 Bi> return jgiwd S| uisad g g0 4zlge Uas b doliy cusl 63 Wi else cuawd (92
Sl Wlgise lads &5 Canl gl paos Ghjgel Ledd ) @udleBs0 g0y ol )3 &S ilhe T 9 430 et play 3)ls IS

D3gd50 o 5l A=y oS (glyol g @B Gy jl 2oy Cuch return jl eslaiwl .39 gyl 3510 LiusSy Hlads o5 B

1 def testreturnexit():

2 print("Line 1 inside the method testreturnexit()")
3 print("Line 2 inside the method testreturnexit()")
4

5 return

6

7 #The following lines will not execute

8 print("Line 3 inside the method testreturnexit()")
9 print("Line 4 inside the method testreturnexit()")
10

11 testreturnexit()
12 print("Hello World!"™)

Line 1 inside the method testreturnexit()

Line 2 inside the method testreturnexit()
Hello World!

03 8315 (L (GaulS dalS (il 5l a2y (GloAS dad (418)S 64330 g return (gaulS aals jl eslasiwl b @)U jl 29, 6925 YU dolip 5>
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def functionname(paraml, param2, ... paramN):

code to execute
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g0 0315 polais] loyiel)ly 4 4 Ak (gpdlie olegS)T .auiS ueli 15 |y T (sleilesS)T 1L @I <y (Slo>hd jl 3=y .5)S

T JUe S &S s ol

def calculatesum(numberl, number2):
return numberl + number2

numl = int(input("Enter the first number: "))
num2 = int(input("Enter the second number: "))

NoupbhwnNnBR

print("Sum = {@}".format(calculatesum(numl, num2)))

Enter the first number: 10

Enter the second number: 5
Sum = 15

23 .S gas @l b ) dac 93 )l3do @udlg> ;0 9 Cunl a4 Lagyei (1Y bghs) calculatesum() pb & g5 o YU dolip >
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def functionA(myFunction):
return myFunction()

def functionB():
return "Hello World!"

NoupbwbNnR

print("{e}".format(functionA(functionB)))

Hello World!



o9 0k Y e Jgl Juad
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Sy ylade oS Cunl (e (23 o Sawngis | 55l slocwedle b Lais yiahl o6 5l a2 9 ¥ s 53 ) b5 yielly Gy 1 sy
qaa 350 FunctionA @i @ legS)T (ylgic 4y |y FunctionB lo ¥ b3 )5 a5 oo damui ) .l @li S functionA gl jl
=) MS 50 Jac functionB gl ilgslys silas s (] doui )3 g 62 myFunction dalS (13jSls ¥ ks )5 functionA aals
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(Keyword Arguments) (gaalS aalS (gloylogS)l

Vi 1) 4oy (Ulo2 LeilogS)T 0b 1 osliviaol gyl ybl> 0 1) &G (sloyiehly b 30 Ledd gdge )3 3850 )y L LogS)T Jlus)|
4alS (5l logS)T ;1 eslaswl 692 y15 5> .l 634 831> Lolais! (ployialyly do @) (GdlEe 4 45 Juiuw Algi 0 Ladb (o2 3y50

Tl 83 0315 (L dgd50 (SleBhd RIU a5 89 gaulS
functionToCall( paramNamel = value, paramName2 = value, ... paramNameN = value)
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def tellinformation(jack, andy, mark):
print("Jack's family is {@}.".format(jack))
print("Andy's family is {@}.".format(andy))
print("Mark's family is {@}.".format(mark))

tellinformation(jack = "Scalia", andy = "Brown", mark = "OverMars")
#Print a newline

print()

tellinformation(andy = "Brown", mark = "OverMars", jack = "Scalia")
print()

tellinformation(mark = "OverMars", jack = "Scalia", andy = "Brown")

family is Scalia.
family is Brown.
family is OverMars.

family is Scalia.

family is Brown.
family is OverMars.

family is Scalia.
family is Brown.
family is OverMars.
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#The following codes are currect

tellinformation("Scalia", andy = "Brown", mark = "OverMars")

tellinformation("Scalia", mark = "OverMars", andy = "Brown")

#The following codes are wrong and will lead to errors

tellinformation(jack = "Scalia", andy = "Brown", "OverMars")

tellinformation(jack = "Scalia", "OverMars", andy = "Brown")
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def vararguments(*args):
total = ©
for number in args:
total = total + number
return total

print("1 + 2 + 3 = {0}".format(vararguments(1, 2, 3)))
print("1 + 2 + 3 + 4 = {0}".format(vararguments(1, 2, 3, 4)))
print("1 + 2 + 3 + 4 + 5 = {0}".format(vararguments(1, 2, 3, 4, 5)))

10=4+3+2+1
15=5+4+3+2+1
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def vararguments(number, *args):

print("number = ", number)
print("args = ", args)

vararguments(1, 2, 3)

number =

args = (2, 3)

Hah)ly iz 51 B9 . gid50 0313 Yolaisl args 4 lgilegS)l iy g (Number ) | i) yiohh gl @ GlogS)T gl VL 45 )
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def somefunction(*args, *args) #ERROR

def somefunction(*args, paraml, param2) #ERROR

def somefunction(paraml, param2, *args) #Correct
AL gy ylaio h1> 3k b yiehly ool 51 A=y loyiohly (g 313 )8 1> (s yiehly glal )3 1y )1 o)l yishly )lgSze 4l

def vararguments(*args , number = 10):
print("args = {0}".format(args))
print("number = {0}".format(number))

vararguments(1, 3, 5)

def vararguments(*args , number):
print("args = {@}".format(args))
print("number = {0}".format(number))

vararguments(1l, 3, 5, number = 10)

args

number

1anle azgi 5 AS @3S Jlwyl H1d o)liw yiel)ly 4y tuple L 1ist sz awlgs(50 a5 3uiS (6,8 Jl=



def vararguments(number, *args):
print("number = {0}".format(number))
print("args = {@}".format(args))

vararguments(1, *(2,3,4), *(5,6,7,8))

number = 1

args = (2, 3, 4, 5, 6, 7, 8)

a3 L8 ) * Cole LT 51 JuB g 3594 Juwyl tuple b 1ist g0 @ Lolegs)T a5 CumsdlS iS50 0o live YL 35 )3 45 jghilen
febgs plgie e ) )90 ) Vb 85 5T b

vararguments(1, *[2,3,4], *[5,6,7,8])
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def vararguments (**kwargs):
print(kwargs)

vararguments(personl = "Jack", person2 = "Joe", person3 = "Smith")

{'personl': 'Jack', 'person2': 'Joe', 'person3': 'Smith'}
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def firstfunction():
number = 5
print("number inside method firstMethod() = {@}".format(number))
def secondfunction():
number = 10

print("number inside method secondMethod() = {@}".format(number))

firstFunction()
secondFunction()

number inside method firstFunction() = 5

number inside method secondFunction() = 10
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def myfunction():
number = 10

print(number)
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number = 10

def myfunction():
print(number)

myFunction()
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1 def myfunction():
2 global number
3 number = 10
4 print(number)
5
6 number = 15
7 print(number)
8
9 myFunction()
15
10
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global number = 10
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1 def printmessage(message = "Welcome to Python Tutorials!"):
2 print(message)

3

4 printmessage()

5 printmessage("Learn Python Today!")

Welcome to Python Tutorials!

Learn Python Today!
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def somefunction(defaultl = 10, default2 = 20, requirel, require2) #ERROR

def somefunction(requirel, defaultl = 10, require2, default2

20) #ERROR

def somefunction(requirel, require2, defaultl = 10, default2 = 20) #Correct

13,5 Jac pj g0 @ yiel)ly S (5185 6350 (5l (yleises 45 Al aiibls sb 4 Ll Holais

def somefunction(requiredl, defaultl = 10, default2 = 20):
#Some Code

somefunction(10, , 100) #Error
(Recursion) cuiS;b
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5 =5 * 4 %3 * 2 %1 =120
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1 def factorial(number):

2 if (number == 1):

3 return 1

4 return number * Factorial(number - 1)
5

6 print(factorial(5))

120
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Factorial(5)

return 5 * Factorial(4) = 120

return 4 * Factorial(3) = 24

return 3 * Factorial(2) = 6

return 2 * Factorial(l) = 2

L) (ylgise j While ddls> S alwg @ 1) YL oS

num = 5
factorial = 1



while num > 1:
factorial = factorial * num
num = num 1

print(factorial)
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def outer():
def inner():
#Some code

aalS il a2 1L e sy ol o)l &U dbwg @ |) G5 22U SO aSil gl cwl G5 6 SG inner() U YL aS )
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def outer():
def inner():
#Some code

return inner
T30S dzgi LIS gilg 3)90 50 6dlw (SJlio 4

def make_adder(x):

def addfive():
return X + 5

return addfive

result = make_adder(10)
print(result())
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Decorator
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def powevenvalue(number):

return number * number
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def powevenvalue(number):

if ((number % 2) == 0):
return number * number
else:
number
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def getfunction(function):
def checkvalue(num):
if ((num % 2) == 0):
return function(num)
else:
return num
return checkvalue
def powevenvalue(number):
return number * number

result = getfunction(powevenvalue)

print(result(10))
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1 def getfunction(function):

2

3 def checkvalue(num):

4 if ((num % 2) == 0):
5 return function(num)
6 else:

7 return num

8

9 return checkvalue

10

11 @getfunction

12 def powevenvalue(number):

13 return number * number
14

15 powevenvalue(10):

100
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(Lambda expressions) lawe) wljle
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lambda parameter(s): manipulate(parameter)
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showmessage = lambda message: print(message)
showmessage ("Hello World!")

Hello World!
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showmessage = lambda : print("Hello World!")

showmessage ()

Hello World!

139450 42190 Ui b 5 a0y Uio .3l plp Wyiel)ly slaei b ogleg)T slass b @B (Sle>l) pKio

showmessage = lambda messagel, message2: print(messagel, message2)

showmessage ("Hello World!")
1305 )18 551y J515 53 1) LsT b abb yiel)ly (gt dlasi b 9 (ghls lauoY w)lic S5 )31
mutilParameters= lambda paraml, param2 : (paraml, param2)
P3S a2 o) JUe @
showmessage = lambda message: (print(message), print("Some more message"))

showmessage ("Hello World!")

Hello World!

Some more message

02 U (5L 9 Bigds 50 63513,y (3l Clls 5> oY Wlygimwd a5 CubS ylgise L3l return dalS (ghls 3Slgi,as laueY wlle
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GetSquare = lambda number : number * number

print(GetSquare(5))

(Built-in Function) 6k cayyss s jl ilgs
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S5 (e 25 pusuo E95 @ ) Hlade S int()

£39)50 )5 O Camndd S kel gl list()

By 50 ;503 33 plgl @ 1) dae SO pow()

SAS e @l ) Hlade S print()

o ) (o dlael Wio L AiS 0 dlouwl pusuo dlacl jl 390 SO range()
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type()
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Tl 034 6315 (HLids gilgs (pal b )5 6920 Jac )3 @0 5 JUie >

print(abs(-3))
print(bin(5))
print(chr(97))
print(float(10))
print(pow(2, 2))
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for number in (1, 2, 3, 4, 5):
print(number)

Wygo 4 lgise range () &bl eslaiuwl b slacl jl 039350 (yaad Slul gy .@l63)S ol |y slacl jl acgamo S pslio YL 35 )
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for number in range(1,6):
print(number)
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intvar = 10

floatVar = 12.5

boolVar = True

StringVar = "Hello World!"

listVar = [1,5,8]

tuplevar = ("Python","Programming","begginer")

dictionaryVar = {'Name': 'jack', 'family': 'Scalia‘', 'Age': 7}

print(type(intVvar))
print(type(floatVar))
print(type(boolvar))
print(type(Stringvar))
print(type(listvar))
print(type(tuplevar))
print(type(dictionaryVvar))

<class 'int'>
<class 'float'>
<class 'bool'>

<class 'str'>

<class 'list'>
<class 'tuple'>
<class ‘'dict'>
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https://docs.python.org/2/1library/functions.html
(Special Methods) ol& (sulgs
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print(dir(x))

["_abs__", ' 'y '_and__', '_bool_ ', ' _ceil ', ' __class__', '__delattr__',

_dir__ ", _?ivmod_ , '_doc_', '_eq_', '__float ', '_floor__', '_ floordiv__ ',

__format__ "', ' ge ', '__getattribute_ ', '__getnewargs__ ', ‘gt ',

[ [

[ [ ' [

' __index__"', ' init_ ", __init_subclass__ "', _int_ ', ' _dinvert__ "',
\ :

' 1shift_ ', '_1t ‘', '_mod__ "', '_mul__‘', ' ne R __neg_ ‘',

__ne__ _new__', '_or__
__rdivmod__"', '__reduce__', '__reduce_ex__

' _pos__ ', '_pow_', ' _radd__', '__rand__"',
' 'y, '_rfloordiv__"', '_rlshift__ ', ' _rmod__"', ' _rmul__', ' _ror__"', '__round__

__repr__",
' _rpow__"', '_rrshift_ ', '_rshift_ ', ' _rsub__ ', __rtruediv__", __rxor__
' __setattr__ ', ' sizeof ', '_str__', '_sub_ ‘', ' __subclasshook__ ', ' __truediv
' _trunc__', '__xor__', 'bit_length', ‘'conjugate', ‘'denominator', ‘'from_bytes"',
'numerator', 'real', 'to_bytes']
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X =5

print(x + 10)
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X =5

print(x.__add__(10))

=
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X =5
print(int.__add__(x, 10))
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